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Solucion:
‘ 7) sen x (csc x - sec x) = 1 - tan x
sec - cos = = co; _ - cos = :
8) cos?x = (1 + sen A)(1 - sen A)
- 1 - cos?« N
cos s 9) cos?A + 9 = 10 - seii?A
= A ‘ 10) sec A - tan A sen A = cos A
cos <% N
N 11) cos?x (sec x - 1) = sen?x
- sen & (9ER% 4 i
cos= | |
: ‘ 12)  cos?t - sen?t = 2 cos?t - 1
T e el . 13) (tan 6 + cot 8) tan 8 = sec?®
| 14) 1 - 2 sen?x = 2 cos®x - 1
EJERCICIOS XVI E |
1
i A 15) (1 + sen=) (1 - senx) = g
Probar las siguientes identidades
1) esc x = : : * s 16) (1 - sen?t) (1 + tan?t) = 1
/T = cos?x |
‘ sen A + cos A
2) cos X = : 17) _—-C_O_S-A_—_——z 1 -tanA
1% tan’x
T+ ta i
_ Y1 + tan‘x 18) e = EEE Y+ 0L ¥
s CSCX_T ) ) csc y - coty
4)  sen x = — ' 15 sena | 14coss _, ..
/7757;;;22 1 + cosx sen «
1 .
5)  tan x + cot x = ! 20) Grpwmrs T oo Beest

sen x cos x

6) CSsz‘_ﬂ_
I - cos®x



